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namaste priyamitrani. gatavare vayam prathamapurusasya riipani drastum arabdhavantah dvivacane. So, namaste dear
friends in our previous class we started looking at the forms of the third person in the dual forms. in this class which is
lecture number 20 we are going to look at the third person pronouns and nouns for the three genders in the dwell and
this is part two of that series. So, we do this introduction and practice of the second and eight cases for the purnlinga or
the napurhsakalinga of words ending with a and of the feminine words of akara and 1kara endings in the dvivacana or
the dual forms been to a revision of the verb conjugation grid and a practice of the vartamanakala and I will also
introduce the bhavisyakala which is in many ways related to the forms of the vartamana or the present tense of the
bhavisyakala being the future tense and I will also take this opportunity to introduce you to the imperative or the ajna
forms we've been looking at it but | will introduce the forms in the entire grid for the verb conjugation. finally, we will
also work on developing your vocabulary. So, let's do a quick recap of what we have done this far. So, here we have in
the masculine we had kau, kau. So, kau, kau and then for the 8 tat Groupons we had tau, tau and for the masculine it
was janakau, janakau good news it's all the same but we had also brought in the feminine along with the janakau because
we had for the kim it was ke ke in the feminine etat became ete ete and sahodart instead of becoming sahodarye and
sahodarye became sahodaryau and sahodaryau just like Janakau Janakau that's why they were clubbed together. what
happens to the other two cases of word endings? So, we have the feminine a2 amba and let's do it with the kim and tat
and see what happens. So, ke ke etat was etat I mean ete ete or te te amba became ambe ambe and we had the neuter
word which was mitra became mitre mitre what happens to them in the the kim and etat for the neuter became ke ke
and etat ete ete also. So, we see that whether it's a ending feminine word or it is a ending neuter word they take on the
same form cells that really simplifies life if you retain the logic of that connection let's go on to the verb conjugation
grid and we'll do a practice of the vartamana or the present tense. So, we saw the different forms here we had sah, sa,
tat became tau, te, te and te, tah, tani in and bhavan and bhavati which acts like the first the third person on the prathamah
purusah became bhavantau bhavatyau and bhavantah and bhavatyah what happens to the madhyamah purusah or the
second person it is tvam, yuvam, ylilyam finally uttamah purusah the first person aham, avam and vayam let's do an
application of that in a verb grid. So, in the president's we had vadati, vadatah. So, vadati, vadatah, vadanti, tvam vadasi,
vadathah, vadatha, vadami, vadavah and vadamah uttamam. So, you remember the endings which were ti, tah, nti, si,
thah, tha, ami, avah, amah uttamam. So, I'd like you to I'd like to introduce you to the bhavisyakala or the future we
have already been looking at it in the previous course of the introduction to basic spoken Sanskrit and so you're already
familiar with it but now with the entire grid completed it will be easier for us to apply our understanding of the future
there. So, what do we see so the really good news here is that for the parasmaipadi words what do we see here that the
same verb endings that we have for the vartamana are reflected in the future as well the only difference is that in the
future we call the future tense the bhavisyakala. So, the visya of the bhavisya the isya isya now it really is the isya
generally in some forms it does get a little modified but it sure is the the indicator of the future tense. So, what do we
have here vadati becomes vadisyati then vadatah vadisyatah, vadanti vadisyanti, vadasi vadisyasi, vadathah
vadisyathah, vadatha vadisyatha, uttamam, vadami vadisyami, vadavah vadisyavah, vadamah vadisyamah. So, now
you can play around with the different forms of verbs that we had been seeing. So, this we had seen was verbs from the
bhvadi ganah or the first group of verbs of the ten that we have spoken of last time. So, that's the first group of verbs |
will just write that for you again all right. So, here we have the first group and what happens now what is very interesting
is that the form bhavisyati is the future not only above bhavati but it is also the future. So, the root for the bhavisyati
I'll do it here is bhii. So, that is one root and it is also the root for as asti in the future becomes bhavisyati. So, we have



bhavisyati, bhavisyatah, bhavisyanti, bhavisyasi, bhavisyathah, bhavisyatha, bhavisyami, bhavisyavah, bhavisyamah
okay. So, this was not correct action there but bhavisyasi you will be. So, bhavisyasi, bhavisyathah, bhavisyatha,
bhavisyami, bhavisyavah, bhavisyamah. The hands if you can coordinate the hands with the learning of the language
it really helps to remember now I'd like to I'd like you to make a sentence here you if you say we will become we will
become Sanskrit knowers of Sanskrit how would you say that we will become knowers we plural will become knowers
of Sanskrit. Yeah, how would that be we will be vayam knowers of Sanskrit is so Sanskrit ah nor of j~na plural j~nAH
and we will become bhavisyamah. So, we will become knowers of Sanskrit vayam saMskR"itaj~nAH bhavisyamah.
you already are knows of Sanskrit but this is just to give a practice for becoming even more knowledgeable about this
language once you finish the course okay. So, what I'd like to also point out here is that the root bhii becomes bhavisyati,
path pathisyati simple, gam gamisyati, stha becomes sthasyati, you remember in the present tense stha became tisthati
but in the future had become sthasyati. So, syati is important for you to note because syati is a modification of the sya
due to the a that is there before it and you recognize the root in this form. So, sthasyati let's do a quick conjugation of
that sthasyati, sthasyatah, sthasyanti, sthasyasi, sthasyathah, sthasyatha, sthasyami, sthasyavah, sthasyamah,uttamam,
another form which is dr§ another root dr$ to see becomes draksyati. So, where do you find the root again in the present
tense it was pasyati in the future draksyati. So, it undergoes certain modifications and you don't exactly hear the isya
but you find that $yati modified there ok. So, paSyati draksyati I will see or he will see not | will see that he will see.
So, let's see if we can conjugate that draksyati, draksyatah, draksyanti, draksyasi, draksyathah, draksyatha, draksyami,
draksyavah, draksyamah, uttamam. now let me see if you can put that together in a word in our sentence. So, I'd like
you to say that we will not, not be, I change that. So, I'd like you to say you too formal will see the movie tomorrow.
you too formal will see the movie or the film tomorrow. So, how would you go about it? you formal first. So, you
should have a question for me there exactly is it masculine or is it feminine. So, let's say it is the feminine here. So,
what is the feminine in the singular for you formal bhavati you to bhavatyau what will be the associated verb draksyatah
because it acts like the third person and then draksyatah and what will you see the movie or the film chalana chitram
when tomorrow let's put that sentence together bhavatyau chalanachitram draksyatah shvah but change the order shvah
bhavatyau chalanachitram draksyatah let's put the verb in the beginning, make draksyatah bhavatyau chalanachitram
shvah permutations and combinations all of them would work but in a sense that the natural order would tend to be
more of the shvah. So, you put the time early sir shvah bhavatyau the subject chalanachitram draksyatah. it's nice in
this context specially to put the subject in though | said that sometimes you don't need to put it in because you are
talking of the you formal contextually one can understand it but it is not a stand alone, because the those two and you
too formal have the same verb form. So, it's a good idea to put that in there let's move on to the next slide and this will
be a practice of the 2nd and 8th cases for the dual. So, again a colorful slide for you here and what do we see here that
in the first column we have now incorporated the dual case for the third person as well. So, what do we have here sah,
sa, tat, bhavan, bhavati in the dual tau, te, te, bhavantau, bhavatyau plural te, tah, tani, bhavantah, bhavatyah for the
tvam, tvam, yuvam, ytyam and then for the first person aham, avam, vayam and in the second column you have the
second case for the masculine singular. So, tam or etam then you have it for the dual case which is tau or etau and then
you have it for the plural which is tan or etan. So, now the person who's there doing the action can be singular dual or
plural the object that is receiving the action or that is the recipient of the action object of the action can also be in the
singular dual or plural and then we have the nouns and the nouns also can take on the singular dual or plural. So, you
have gayakam paSyami or you can see two of them gayakau pasyami or you can see many of them gayakan pasyami
and finally we have the action the verb itself and the verbs are put in accordance with the subjects with the colour screen
there okay. So, I hope that you are able to follow that now let's see what happens here. So, let's start we have first we
have sah I will stick to the sah to keep life very simple okay. So, sah taM gayakaM pasyati now he sees the two of the
single. So, sah tau gayakau pasyati he sees many of them sah tan gayakan pasyati astu. So, what we will do is just for
the sake of our practice and the time that is in our hands I will just take you through the singular and the dual cases. So,
we have sah taM kridakaM pasyati, sah tau kridakau pasyati and then we have it for the raksaka sah taM raksakaM
pasyati becomes sah tau raksakau pasyati, nayakah sah taM nayakaM paSyati, sah tau nayakau pasyati uttamam. and
then you can of course add the plural also and/or practice there but next one that | would like to bring into bring to our
attention is the destination. So, the object is also used for the destination. So, we have patralayam but patralaya post-
office patralayaM gacchati dual patralayau gacchati plural patralayan gacchati okay grnthalayah dual grnthalayau
gacchati, karyalayah. So, karyalayaM gacchati in dual karyalayau gacchati now let's see another one what happens to
the 1kara there alright. So, we have tam sah will stick to this sah. sah taM nartakiM pasyati he sees that dancer two of
them sah te nartakyau pasyati and then he sees those dancers sah tah nartakih pasyati alright again just like the previous
one we will stick to the singular and the dual because that's the area of our practice now. So, sah taM gunavatiM pasyati
duel sah te gunavatyau pasyati, uttamam, gunavati, guna means quality vati means one who possesses the qualities who



is a very virtuous woman. Next, buddhimati intelligence sah taM buddhimatiM pasyati duel sah te buddhimatyau
pasyati and on the next one citrakar artists Oh sah taM citrakariM pasyati duel sah te citrakaryau pasyati uttamam now
let's see what happens to the destination nadim gacchati becomes nadyau gacchati, ke nadyau gacchati, te nadyau
gacchati uttamam. So, because we are already familiar with this form the application has differed here because we have
moved on to this second case in this context and so now let me make a sentence for you we will do two sentences one
with the masculine and one with the neuter and I'd like to see if you are able to find the answer. So, let's say that | see
these two actors, | see these two actors, yeah got that? let's see. So, | very easy aham see what will be the corresponding
pasyami these two would be etau actors nayakam nayakau alright. So, aham etau nayakau pasyami. I am very tempted
to let let's go to the next one which is the feminine one and let's see if you can make a sentence there. So, the two of
them feminine, the two of them feminine see the two intelligent ladies, the two of them feminine see those two
intelligent ladies, all right let's see if you got it the two of them feminine would be te see would be pasyathah those two
te buddhimatt intelligent women buddhimatt becomes buddhimatau. So, te te buddhimatau pasyathah now why did I
give you that sentence yes because we have te te don't mean the same thing the two things are not the same thing so the
first two are the subjects those two ladies specifically te buddhimatau the two objects here the two ladies that you are
seeing pasyathah. So, it's the same form but the meaning is not the same so you have to keep your mind alert in order
to catch the difference let's move on to the next one with the feminine a and the nuter words and let's see what happens.
So, sticking to the same format there let's see what this what forms this takes on. So, we have sah taM gayikaM pa$yati
will become sah te gayike paSyati, sah te gayike pasyati and then plural sah tah gayikah pasyati like we did in the
previous case we will only stick to the singular and the dual cases. So, sah taM kridikaM pasyati, sah te kridike pasyati,
uttamam, sah taM raksikaM pasyati, sah te raksike pasyati uttamam, sah taM vicarikaM pasyati, sah te vicarike pasyati
uttamam, and the same for the destination. So, I have just taken the simple word §ala you can say bhojanasala, pathasala
pathasala. So, the school and you know the word, familiar with them so I just talked to $ala or the place it mean means
a place or an institute. So, sah taM §alaM gacchati or pasyati, sah te $ale gacchati in this case, it is gacchati because it
is the destination there okay. So, sah te $ale gacchati and I just like to mention that it was the same here in terms of the
destination patralayaM gacchati becomes patralayau gacchati similarly nadiM gacchati became became nadyau
gacchati and that's why you have that color code over there coming back here we have §alaM gacchati, $ale gacchati
I'll give you some practice vatikaM gacchati, vatike gacchati, bhojanasalaM gacchati, bhojanasale gacchati, uttamam
now let's move on to the neuter and see what happens. So, sah tat mitraM pasSyati becomes sah te mitre pasyati plural
sah tani mitrani pasyati uttamam will stick to the dual singular and dual sah tat vahanaM pasyati, sah te vahane pasyati
uttamam. next So, sah tat vimanaM pasyati, te vimane pasyati uttamam. So, sah tat naksatraM paSyati, te naksatre
pasyati uttamam, sah tat grhaM pasyati, sah te grhe pasyati uttamam now let's play the game here. So, | will give you
any sentence to translate and let's see if you can put that together for me. So, you two informal you two informal see
these two thinkers, you two informal see these two sinkers, all right got it. So, first thing you two in the informal is
yuvam, see would become pasyathah these two would be ete. So, the whole of that ete thinkers vicarika becomes
vicarike uttamam. So, vicarike. So, let's make the whole sentence, yuvam ete vicarike pasyathah, uttamam now let's do
one for the feminine one | mean one for the neuter one. So, we all go to those houses those two houses. So, we all go
to those two houses uttamam. So, we all so we all will be vayam and the corresponding verb by sorry not this but
gacchamah gacchamah and so we all go gacchamah where to those two houses those two will be te and houses will be
those two houses, te grhe uttamam got it huh. So, we have that and we know it's the same cases all right so let's apply
it in a game like we've done in the previous lesson and here there is no colour code for the pronouns and the nouns for
the pronouns and the verb conjugations so let's see what happens. So, here we have let's number it first we have ekam,
dve, trini, catvAri, pa~nca, saT, sapta, aShTa and nava and let's see the corresponding verb forms here. So, avam will
go with pasyavah, tvam will go with draksyanti draksyati draksyasi uttamam, tau will go with any of that and yes
pasyatah. So, I've also brought in the future here for you, for us to practice. next vayam will go with draksyanti,
draksyathah, draksyati, pasyavah and pasyamah, yuvam will become will go with yuvam pasya or draksyathah there
then sah we'll go with draksyati, yiiyam we'll go with pasyatha, te will go with draksyanti and finally ahaM draksyami
ok now that we have that let's fill in the different forms here. So, avam prastavaM draksyavah becomes avam prastavau
pasyavah, pasyavah and the present tens. Next, tvaM mahotsavam what will what did we have here draksyasi and that'll
become tvaM mahotsavau draksyasi, tau sakhiM pasyatah becomes tau sakhyau pasyatah, vayaM kumariM pasyamabh,
vayaM kumariyau pasyamah uttamam, yuvaM patrikam also the should be a patrikam there patrikam in the feminine
for the second. So, yuvaM patrikam becomes 5 draksyathah, yuvam patrike draksyathah. Next, sah ptijam, Where are
we? sah ptijaM draksyati, sah piije draksyati, yiiyaM nrtyaM pasyatha, yiiyaMnrtye pasyatha uttamam, te nayanaM
draksyanti they will see the eye. te nayane draksyanti alright and what I would like you to do the last one is aham and
I'd like you to make a sentence with aham | will see those two festivals or | will see those two festivals will be ahaM



mahotsavau draksyami, uttamam. So, moving on to the sambodhanam the vocative case we see that we have the first
and the last are the same the first case and the last cases are the same there. So, we have he gayaka ekarm gitarh gayatu
krpaya please sing one song now if the two of them he gayakau ekarh gitarh gayatam and that's something that we're
going to look at in greater detail. So, gayatu becomes gayatar it's an imperative or requested. Next, he kridaka
spardhayam vijayah bhavatu. So, in the competition will you be successful if they two of them he kridakau spardhayam
yuvayoh. So, here put it in brackets because it is only relevant when there are two players that are taking part in the
competition yuvayoh vijayah bhavatu. Uttamam, moving on. sahodari becomes he sahodari tatra ma gacchatu. So,
don't go there two of them he sahodaryau tatra ma gacchatam uttamam, janani becomes he janani tatra ma gacchatu
and if they two of them he jananyau tatra ma gacchatam, uttamam, moving on with the word kridaka becomes kridike.
So, he kridike in the singular spardhayam vijayah bhavatu. So, a lady sports woman. So, you will tell her may you be
successful in the competition. So, he kridike spardhayam vijayah bhavatu if the two of them he kridike it's the same
thing spardhayam yuvayoh vijayah bhavatu. So, kridike he kridike in the singular and kridike in the dual spardhayam
yuvayoh vijayah bhavatu when it's singular you do not say that yuvayoh. So, you have to be careful of that as well.
Next, raksika. So, he raksike tatra ma gacchatu. So, don't go there two of them he raksike tatra ma gacchatam. So, the
first one was he raksike tatra ma gacchatu and the second here execute he raksike tatra ma gacchatam just buy the two
and the tam you know that it is a singular or the dual case they're. Moving on, he mitra for the neuter words he mitra
mama vaktavyarh what [ have to say sarvam $rnotu listen to it carefully two of them he mitre mama vaktavyarh sarvarm
$rnutam uttamam next one he kalatra mama vaktavyarh sarvam §rnotu two of them he kalatre mama vaktavyam sarvam
$rnutam okay. So, $rnotu Srnutam here you can see that you can mix and match with the black ones but the violet would
tend to stick together in terms of the meaning there. So, be conscious and apply the language according to the context.
So, I just wanted to introduce you very very quickly to the load or the ajiia or the imperative here. So, we have vadatu,
vadatam, vadantu. So, the i of the present gets replaced by the u, vada, vadatam, vadata, vadani, vadava, vadama. So,
this is like let us or do it's an order or a request and what do we see here one way of remembering is that the i for the
for the third person singular and plural is replaced by the u the middle line gets a tam tam ta that's how I had learnt it
tam tam ta Oh what else the vadasi drops the si it just becomes vada for vadami it becomes vadani vadavah dropping
the visarga (h) and vadama dropping the visarga (h) again. So, here we have the bhvadi ganah verbs again that we've
already been a little familiar with and I'd like you to do this with pathatu say that pathatu, pathatam, pathantu, patha,
pathatam, pathata, pathani, pathava and pathama uttamam. let's move on do a quick recap of what we have done this
far. So, we see that kau, etau, janakau in the feminine it is ke, ete, sahodaryau but ambe and mitre. So, all of them. So,
whether it is esa or etat both of them will get ete and the forms are all with the ete except for the e ending. So, I've tried
to give you a color code there to show you what is similar and what is different and what happens with the second case.
So, it is identical. So, kau, tau, janakau, ke, te, sahodaryau, ke, te, ambe and in the mitram, ke, te and mitre uttamam
and to close we have the vaquita which is he janakau for sahodari, he sahodaryau for the amba, he ambe and you see
that it is the same for the single as well for ambe. So, he ambe, he ambe and here you have he mitra becomes he mitre
alright. So, again a chart for you to study there. let's move on to an application in the §lokah and see if you can identify
what we've done here. So,

sukhaduhkhe same kritva labhalabhau jayajayau|
tato yuddhaya yujyasva naivam papamavapsyasi||

So, this is from the gita the second chapter again where krishna's really starting his counseling and this is the 38 verse.
So, he says sukhaduhkhe. So, in the world of dualities one of the reasons why the dual is oft used is because the world
has made of dualities and in all those cases of dualities you can use the dual case. So, sukha and duhkh happiness and
sorrow, grief and happiness sukhaduhkhe. So, the two of them same making them equal, kritva by making them, what
else do you need to equalize labhalabhau. So, loss and gain labhalabhau, 1abha as gain labhau is lost. So, labhalabhau
in the, its in the dual case for the masculine jayajayau. So, jaya is victory and ajayau is defeat jayajayau duel again
same kritva by making all this equal or being equal in all these states of duality, what should you do? tatah from there.
So, tato we have already seen before becomes tatah sorry I'll do it apart a little bit tatah yuddhaya for battle, yujyasva
become ready to fight, naivarh, naivam is a combination of na plus evam not thus, papamavapsyasi you will not incur
any sin huh and then turn to battle. So, make grief and happiness loss and gain victory and defeat equal to thy soul and
then turn to battle. So, thou shalt not incur sin says Krishna and with these words I'd like to chant it for you and invite
you to repeat after me. So,

sukhaduhkhe same kritva labhalabhau jayajayau|

tato yuddhaya yujyasva naivarh papamavapsyasi||



uttamam a lot more than just the learning of the duel case in that and a secret to being able to lead very conscious
meaningful and a life where one can overcome a lot of the conflicts that one faces in different circumstances. So, with
this another quotation from Shrimati Sushma swaraj, late Shrimati Sushma swaraj we she says that the Gita and the
power of its teachings she says eating chocolates or popping pills won't reduce in depression instead one must read the
Gita this will help relieve the stress and depression in life it will help in dealing with challenges in life. So, many things
to take from that and with these words just a quick note of the references svastyastu, svastyastu. practice the dual case
and overcome the dualities in life as well dhanyavadah.



